FR)-THEE

[t
EC 0 3 1 6 0 1 9| -8 3
Eﬁ%i 3 Y 1 3 3 4 3| 1 9
N _ B1 B2 B3 5 /8 s 0
BJ 1L 7 T)lh A—4 LR REE Ba | B8 | X8 [BxE I 32
ﬁE,ﬂjL 0 2 0 2 0 0 4| -4 3
4—%‘?)% 2 0 1 0 6 3 o] 3 1
B3
REE 2 0 1 0 3 2 1 1 2
C1 C2 C3 " p — -
(BN J\EFCBX PFK—ATO— Hﬁlﬁ\ 77',# %lﬁ FRE [[=Yiva
ﬂ:?agm 1 0 0 2 3 1 2 -1 2
C2
J\EFCBX Y 1 0 1 0 0 2| -2 3
PK—ATO— ) o ] 0 6 s 0 s 1
R _ D1 D2 D3 5 e s 5
DT N—T T PHELE INES TR B | B | km |[BxE B
51%% 9 0 4 2 6| 13 2l 1 1
D2
PHELR Y 9 0 6 0 o| 15| -15 3
D3
INEHTRR 2 4 6 0 3 8 4| 4 2
- _ E1l E2 E3 /B 5 &
EJ N —T7 FR—TI— ARZE GP BR | BR | kA Bxg B
E1
PFER—TIL— 0 4 5 0 3 5 4 1 2
I;é@ 4 0 11 0 6| 15 0| 15 1
Eﬁ, 0 5 11 0 0 o[ 16| -16 3
» _ Fi F2 F3 = . o
FJ L 7 7E Hi2 FEL Bia | BE | &5 [BxE [t
?E*E 1 1 1 1 2 2 2l o 2
EIFE'ZLZ 1 1 1 0 4 2 1 1 1
;;gjt 1 1 0 1 1 1 2| -1 3

HEFE

FRY-—J

@ 9:20 [EC 0—3 BHFR KEXRE Mem 1—0 GCBX REXREH | BWEK—TIL—0—4 XRFEH KEXE
® 9:40 [ZJIlA 0—2 A4A—JILR 1HHEH |IIFE 9—0 ExXR THHEH |BTE 1—1 Eix2 1BHEH
® | 1000 JEC 1—6 HR 2L EH LR 0—2 PR—/TA—| 2BLEH |BK—TIL—5—0 GP 2L B
@ 10:20 i)l 0—2 HEE 3LEH |iImmE 4—2 INEHIRE 3FHEH |BRLE 1—1 FEE SHHEH
® 1040 |[EHFH 1—3 AR 42 |CcBX 0—1 PFKR—AI0—| 4BLEH |KRFE 11-0 GP AL EH
® 11:00 /=Y ILR 1—0 HEE 5ELEY |EXR 0—1 /MNEDIRE 5EHLEY |EiL2 1—0 FEi 5L EF
FRIEALR E B
HEarE Ba—k
@ | 11:20 JAsfL EC 2—1 B3fx /A | KREFEH |o3fr CBX 5—0 D3 BER | A&FH [E3fz GP  0—4 FMEFEL REKER
11:40 JA2f HHFE 1—0 B2z HEE | 7B5EH |c2fi el  3—0 D2B/NEIIA 7HEEH |E26iPXR—T 2—0 F2fi BifE TR EH
©) 12:00 AUz AR 1—3 BIfIA—Y LA 8EbLEH |CIIPKR—C4I0—5 DIfi Ifm | SHbLEH |[EIIAKRFES5—0 FifL Ei2 SHFLEH




